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Activity : Write down six bonds to 10 (4+6=10, 7+3=10). Then ask them to use this to write six bonds to 100 (40+60=100, 70+30=100).
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Friday: Warm up

Tommy has 20 red pens and 30 blue pens.

How many pens does Tommy have?
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Ma|n) a) What calculation is represented?

What is the same about part a) and part b)?
What is different?
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©ritin theblarks.

@ 4-1=

40 - 10 =

4tens - 1ten = tens

b 7-3=

70 - 30 =

7tens - 3tens = tens

 8-6=

80 - 60 =

8tens - 6tens =

d 9-2=

90 - 20 =

9tens - 2tens =





